14. What is the value of sinA and cosB in figure 27

1 32 24
a)sinA=— cosB=—
40 40

: 24 32

b) sinA = cosB =—
32 24

: 24 32
c)sinA=— cosB=—
40 40

; 24 24
d)sinA=— cosB=—
40 40

15. Which one of the following is not a Pythagorean identity?
a) sin’0 = 1- cos’0
b) sec’ = 1- tan’0
¢) csc’0 = 1- cot?0

d) cot’0 = 1- cos’0

16. The expression :z—:: is equivalent to
a) csch
b) sinf
c) cosO
d) secO

17. Find the measure of unknown angles in the figure 3.

(20x+10)°
{3x +9)°
Lo

Figure- 3

a) 150° and 30°
b) 120° and 20°
¢) 160° and 30°
d) 150° and 20°
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